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Mohit.. 14 hours ago

Thank-you Madam, for this Amazing Class Session of today's.. £\, &)
And

My Answer for today's Homework is like-

SBI CLERK 2022 E.

@ Nabanita De 14 hours ago
Read more
H.W-april-18-H-Ranchi,April-19-A-Delhi,july-18-G-goa,July-19-D-ooty,Sep-18-E-Shimla
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ruma rajwar 9 hours ago
Suman Paul 13 hours ago ,
homework ans:

2018 2018:
April-H Ranchi APR-H(RANCHI)
July-G Goa JULY-G(GOA)..
Sep-E  Shimla. Read more
Read more
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debasish chakraborty 15 hours ago
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Eight persons A, B, C, D, E, F, G and H are visiting
eight different places viz. Agra, Cochin, Delhi, Goa,
Jammu, Ooty, Ranchi and Shimla on four different
months viz. April, July, September and December
of 2018 and 2019, but not necessarily in the same
order. No two persons visit the same place or on
the same year. Four persons visit between G and B
who visit to Cochin but not before G.E visits
immediately after G and two persons before the
one who visits Delhi. H, who visits Ranchi, visits on
the same month as the one who visits Delhi. Two
persons visit between H and C who visits
immediately after the one who visits Shimla. D
visits in the month having 31 days but not in the
same month as C. F, who visits Jammu, visits two
persons after the one who visits Ooty. Neither A
nor G visits Agra.
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eight different places viz. Agra, Cochin, Delhi, Goa,
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months viz. April, July, September and December
of 2018 and 2019, but not necessarily in the same
order. No two persons visit the same place or on
the same year. Four persons visit between G and B
who visit to Cochin but not before G.E visits
immediately after G and two persons before the
one who visits Delhi. H, who visits Ranchi, visits on
the same month as the one who visits Delhi. Two
persons visit between H and C who visits
immediately after the one who visits Shimla. D
visits in the month having 31 days but not in the
same month as C. F, who visits Jammu, visits two
persons after the one who visits Ooty. Neither A
nor G visits Agra.
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- 2018 2019

. Who among the following person visits Goa?

a) The one who visits in December 2018

b) The one who visits three persons before D

c) The one who visits immediately after the one who visits to
Ranchi

d) The one who visits in April 2018

e) None of these

In which of the following month and year does A visit?
a) Three months before the one who visits Ooty

b) Two months after C

c) Immediately before H

d) Two persons after the one who visits Goa

e) None of these
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- 2018 2019

How many months are there between G and the one who
visits Jammu?

a) 14 months

b) As many months between B and the one who visits
Ranchi

c) 12 months

d) As many months between F and the one who visits
Delhi

e) None of these

To which of the following place does the one who visits in
December 2018?

a) Delhi

b) Ooty

c) Shimla

d) Agra

e) None of these
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Eight persons A, B, C, D, E, F, G and H are sitting ar M a
circular table but not necessarily in the same order. Four of
them are facing towards the centre and remaining are
facing opposite to the centre. B sits second to the right of D.
F sits third to the left of C. E sits opposite to G who Is an
Immediate neighbour of C and B.A doesn’t sits opposite to F
and H. F faces outside the centre and sits third to the right
of A. A and F are facing opposite direction. Immediate
neighbours of A are facing same direction which is opposite
to A. B and C are facing same direction.

3T AT A, B, C, D, E, F, G 3R H TP JAIDR Al & dRI
3R 9 § Afh st et fob s pH A BT I 30
BT HW b5 B IR 831 A9 B @ g o} faudid
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43) Who sits third to the right of the 41) Who sits immediate right of B? B = 3t g &1+ a8 27?2
person who sits opposite to F? F = faudia a)G

% saft o AT & A T W H 33T 82 b)C

a)A C)A

b)B d)E

c)D e)None of these

d)H

e)None of these ; _
42)Which of the following person is an immediate neighbour

0] WAV
et # @ =i av safw A =t ferean w=it 22
a)D
b)E
c)C
d)G
e)None of these
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44) Which of the following makes first person sits third to the - '

right of the second person? fr=feitaa # & @i uger safth @ g saf &
T U O T W 3T 82

a)DF

)AG

c)FC

d)EC

e)None of these

45) Four of the following five in such a way to form a group,
which one of the following does not belong to the group?
frafafaa oisr @ & 9/ 38 TR TF w9 T E, Feafafea @ @ w0 e e
Hatea TE 82

a)C

0)JAN

c)B

d)D

e)G
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Seven persons P, Q, R, S, T, U and V are sitting at €
distance in a straight row facing south but not necessarily
in the same order.

P sits in the middle of the row. Two people sit between P
and Q. U sits third to the right of S who is not an
Immediate neighbour of P. Number of person sits to the
left of V is one more than that of number of persons sits to
the right of R. V is not a neighbour of U. T sits right of P.

O

g afeRip, Q,R, S, T, U SRV g%ﬁ%ﬁﬁﬁmﬁ
waf‘&rurﬁaﬁvmaw g Afd- MaAD

fb
e S ko1 s Qb fa G331
s & g Y dRIY ™M IR 93T 3 i) p BT FIPedd TR
TR R 1 v b 9TS SR ¥ iRl &1 TWT, R P 1€ 3T
mﬁmﬁwaﬁ‘wélv U BT ISt Al
1T, PP SR a2

!
Y
)
N\ 5
a3


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 am/ (@)

48) Who sits third to the left of U?
U & o & 18 T 0T i Sat 22

a)V

b)Q

C)S

d)T

e)None

46) Who sits extreme right end of the
row?

Gfxh o Sif® S BR W &iF ST 87

a)T

b)Q

c)U

d)V

e)None of these

47) How many person sits between T and
V?

T 3R V & wex foraw =afw a8 8?7

a)l

b)2

c)3

d)More than three

e)None
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49) If X sits exactly between T and R and Y sits exactly between V and S, ThM
many person sits between X and Q?afie X, TR R & sr s A asgarg R Y, V 3R S
Il ¥ dtes after o Yaar 2, @ X 3l Q % s fora safw 98 §2

a)2

b)3

c)5

d)6

e)Cannot be determined

50) If all the persons are arranged from the right end of the row to left end of the
row according to the English alphabetical series, then how many persons remains
unchanged according to their previous position? afe &t safrat i Ufw o 2T SR & Ufe &
ATE BR aeh ST TUHTAT YT oF FATAR FAred Toham rar 2, at foraw satw st fuseft fafa &
HTAR Srafeafda w82

a)l

b)2

c)3

d)4

e)None
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53) Statements:

All Copper is Metal
Some Metal is Plate

No Metal is Diamond
Conclusions:

I)No Plate is Copper
[1)No Copper is Diamond
a)Only | follow

b)Only Il follow
c)Either | or Il follows
d)Neither I nor 11 follows
e)Both I and Il foll¢
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51) Statements:

All shirt is Trousers
All Trouser Is Jean

No Trouser is Cotton
Conclusions:

I)No shirt is Cotton
[1)No Jean is Cotton
a)Only | follow
b)Only Il follow
c)Either I or Il follows
d)Neither I nor 11 follows
e)Both | and 11 follows
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52) Statements:

Some Bulb is Car

All Lorry is Bike

All Bike is Car
Conclusions:

1)Some Bulb is Lorry
[1)No Bulb is Lorry
a)Both | and 11 follow
b)Only Il follow
c)Either | or 1l follows
d)Neither | nor 1l follows
e)Both | and 11 follows
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54) Statements:
Some Phone is Vivo
Some Vivo is Oppo
No Oppo is Sony
Conclusions:

1)Some Phone is Oppo
[1)No Vivo is Sony
a)Only | follow

b)Both I and Il follow
c)Either | or 11 follows
d)Neither I nor Il follows
e)Only 11 follow
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55) Statement:

All Chair is Watch

No Chair is Table

All Table i1s Wood
Conclusions:

)AIl Chair is Wood is Possibility
I1)Some Wood is Chair
a)Only | follow

b)Only 11 follow
c)Either I or 1l follows
d)Neither I nor Il follows
e)Both I and Il follow
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Eight watches A, B, C, D,E, F, G and H were boug
eight different months March, April, May, July, August,
October, November and December of the same year but
not necessarily in the same order.

The watch E was bought on March. The watch H was
bought on the month which has 30 days. Two watches
were bought between H and A. The watch G was bought
just before C. Four watches were bought between D and
F which was bought before G. As many watches bought
between B and G is as same as between F and C.

hHrFI
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58) Which of the following watch was 56) Watch C was bought on which of the following
bought months?
just before the watch which was bought on ara C ot ffaiaa 7 o foee w8 # @it = an?
July? a)July
frefefaa & & = €t a9t TdEh 15 off Jers @t whet b)August
T2 U<l o 3tk Uge? c)October
a)B d)April
b)C e)None of these
c)D |
March(31)
o)]= _ 57) How many watches were bought between H and G?
e)F ’::”(‘_‘:‘1))’ H st G & wer Roeereht afiat wrird m?
~ a)l
July(31
AugZit(;l) b)2
October(31) C)3
d)4

November(30) J e)None of these

December(31) I
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59) Which of the following watch was bought on August?
FAfeTRaa & & i € 9T 30T ol @it 1 of?

a)A

March(31) b)D

_ MayEy | F e)None of these

(31

August(31) G 60) Four of the five among the following are similar in such a way to form a
Noaob:r(siz) E group, Which one of the following doesn’t belongs to the group?
H : . : .
e fFreforiaa # @ uier & 9 9R U @6g a9 & o0 o9 §, fefafaa w @
e | Hi T & wifera T 32
a)E
b)F
C)A
d)H

e)G


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/

61) Statement: | >M; M >J; L< J; L=0; O<N
Conclusion:

NL=I

IL< |

62) Statement: B< H<K; H >l >F; F=M >Z,
Conclusion:

DISK

INB< Z

63) Statement: S<T >Z=I; I=N >M
Conclusion:

) M>T

1) N<T
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64) Statement: KSA>C >D=F< | >Z
Conclusion:

DF >A

I)C >Z

65) Statements: E<S K <L; K=S >0O;S <T >U
Conclusions:

DE<T

1)L >0
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66) if The digits in each number are arranged in descending order, then which of the following number will be the

third highest number? afe Uedeh HEAT & 3iehl whl AL sh W sk foraT wmg, @ FefaRaa & @ = =t
TEAT e T I @At Bhi?

a) 532

b) 427

c) 386

d) 148
e) None of these

67) If all the numbers are arranged by ascending order from left end to right end then which of the following

number is second from the right end? Ife @t TEITA A 9 BR A I DR deh ARG HA W garkerq fmar
STaT &, A1 freferRaa § & & ot @A 3 or ¥ g 7?2

a) 148

b) 427

c) 532

d) 248

e) None of these
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532 427 248 386 148

68) If third digit of third lowest number is divided by second digit of second highest, then what will be
the resultant answer? afe dradt @e@ BT FEaT & Y i T FET T T HEAT & g ek A forwriora feomar strar 2, o
ot 3% =T grm?

a)l

b)4

C)2

d)3

e)None of these

69) What will be the resultant of multiplication of last two digits of highest number with last two digits
of lowest number? w=r& =gt weat & sifaw 3t sient Tt T ST WA % ATaw Y fehl | UM HA 6T TRUTH w711 T2

a) 1536

b) 1436

C) 2436

d) 1546

e) None of these
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70) If one is added to all even digits and one is subtracted from all odd
digits within the number, then which of the following number will be the
third lowest number? af: asf s st & ve FreT FTaT § X AT % Tvt e siet § & U gem
AT 7, a1 HHATTRad § o Shid O S6IT diail aad Sier 66t g ?

a) 427

b) 248

c) 386

d) 148

e) None of these
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Seven persons I, J, K, L, M, N, and O are starting m

work in seven different timings 8 am, 9 am, 10 am, 11 am,
12 pm, 1 pm and 2 pm in the same day

but not necessarily in the same order. O started his work in
the afternoon. Two people were started their work between
O and N. Only one person started his work between | and J
who started his work after O. The sum of starting time of M
and L is four more than that of K’s starting time. M
started his work before L

Ard a1, 4, K, L, M, N, 3R 0 T g1 fe7 3 gag s 9,
T 9 991, 9T 10 9, 11 9, 12 o, GIUER 1 T 3R
GIUEY 2 S HId S-S HHY H (YT HTH L= B

wRol
Afp1 o=t 1Y fh s P A BN 1 0 A STUEI | SUAT
HTH Y= fHha1| 0 3R N & = S A A (U1 T R
a1 1 3N ) &t Had T Afad A 31U $TH I
- T form 3= o
4 | 0P A ITABT B M 3R L P ARIHD T BT AN K B
IRAUF THT A IR ATF I M L. T UG SUAT HTH
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73) Who started his work just before M?
M % <t uger foRam sraaT & 91% foRa?

a)K
b)J

c)L
d)N Casel
e)None of these Work

Starting Person
Time

71) K started his work in which of the following time?
K 3 frmferiaa @ & fora o @ sroam s 31 feran?

a)9 am

0)10 am

c)1llam

d)12 am

e)None of these

72) How many persons started their work between M and
J?

M 3R J & " fohaw safeat I 31uAT et awe feran?

a)l

D)2

c)3

d)4

e)None of these
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74) Which of the following is correct with respect to th
person and their working time? saf iR 37k &l 980T &

Casel i )
S e ¥ fAAfeTRae o & i @t @t 82
Starting Person )N -10 am
Time b)J —11 pm
c)O —2am
d)L—-2pm

e)None of these

75) What is the difference of starting time of O and L?
O &R L o amiiyes a0a § fohaqr oiaX &2

a)2

b)4

)6

d)8

e)None of these
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